
Type 2 Conditionals (2-й тип)

• Type 2  условных предложений выражает условную или 
маловероятную ситуацию, которая не может произойти в 
настоящем или будущем времени.

if –clause main clause

if + past simple would / could / might + 

+ bare infinitive

If I had the time, I would take up a sport.  (I don’t have the time now, so it’s 
unlikely that I will take up a sport) 

Если бы у меня было время, я бы занялся спортом. (Но у меня нет 
сейчас на это времени)



Конструкция 
“If I were you…” – “На твоем месте я 
бы…..”

Мы используем эту конструкцию, когда хотим сказать, как бы 
мы поступили, т.е. дать совет или рекомендацию. Эта 
конструкция относится ко 2-ому типу условных предложений.

If I were you, I would talk to him about the problem. (На твоем 
месте я бы поговорил с ним об этой проблеме)

If I were him, I’d apologize. (На его месте я бы извинился)

Обратите внимание на отсутствие согласования между 
местоимением и глаголом (if I were…)



Задание 1.
Make sentences using If I were you…..

Model: Paint the fence red (If I were you, I would paint the fence red.)

1. Order a salad

2. Have some coffee

3. Buy a dog

4. Go to Japan

5. Take up golf

6. Apologize



Задание 2. 
Open the brackets using 2 Type Conditionals

       Model: If we …(have) a car, we… (go) for a drive in the country.

                    If we had a car, we would go for a drive in the country.

1. Kim …(buy) some new clothes if she… (have) enough money.

2. If cameras … (not/cost) so much, we…. (buy) one.

3. He… (open) the door if he…. (have) the key.

4. If she… (get) good grades, she …(go) to university.



Type 3 Conditionals (3-й тип)

Type 3 выражает нереальную ситуацию, относящуюся к 
прошедшему времени, т.е. то, что не могло раньше произойти.

 if-clause main clause

if + past perfect would / could / might +

+have done

If she had called earlier, I would have told her about the meeting. 

(but she didn’t call earlier, so I didn’t tell her about the meeting.)

Если бы она позвонила раньше, я бы сказал ей о встрече. (Но она 
не позвонила, поэтому я не сказал ей о встрече.)



Задание 3. 
Open the brackets using 3 Type Conditionals

Model: If he …(remember) earlier, he …(send) her a birthday card.

If he had remembered earlier, he would have sent her a birthday card.

1. Jason …(break) his arm if he …(be) more careful.

2. You …(pass) the test if you… (study) more.

3. If she …..(close) the gate, the rabbit….. (not / run away).






